ONLINE PRICE LIST 2025/2026

DIVINGURU Sri Lanka

Meet the Professionals, Dive with US!



info@divinguru.com
www.divinguru.com

Divinguru Sri Lanka

DIVINGURU UNAWATUNA, S - 36133

+94 (0) 76 760 8597

open from 1st November to 10th April
294 Matara Road, Unawatuna, Galle, 80600

info@divinguru-unawatuna.com

www.divinguru.com/unawatuna

DIVINGURU NILAVELI, S - 23912

+94 (0) 77 077 8597

open from 15th March to 30th October

at Divinguru Beach Resort,

Ward No. 3, 9th Mile Post, Nilaveli, Trincomalee, 31010

info@divinguru-nilaveli.com

www.divinguru.com/nilaveli

DIVINGURU TRINCOMALEE, S - 26837

*currently operating from Divinguru Nilaveli info@divinguru-trincomalee.com www.divinguru.com/trincomalee

Price list 2025/2026

Here you will find our price list for Scuba Diving, PADI Diving Courses, Snorkeling Trips, Whale & Dolphin Watching Tours as well as Equipment Rental.

We offer:

Scuba Diving:

- -Fun Dives
- -Refresher Dives
- -Private Coaching

Dive Packages:

Dive Package with Own equipment (DPO)

Dive Package with Rental equipment (DPR)

Equipment Rental

PADI Diving Courses:

- -Get Introduced
- -Get Certified
- -Freediving
- -Improve your Scuba
- -Specialize

Snorkeling Trips:

Whale & Dolphin Watching Tours:

Online Booking Discount

The 10 % Online Discount in this price list for Private Coaching, Refresher Dives, Dive Packages, PADI Diving Courses, Snorkeling Trips, Whale & Dolphin Watching Tours and Special Offers of the Season is only valid if you book these at least 48 hours in advance through the Online Booking System on our website and pay 10% deposit of the total amount in advance.

Scuba Diving

Description:

- Single Tank Boat Dive = one boat ride with one dive at one dive spot
- Two Tank Boat Dive = one boat ride with two dives at two different dive spots with a surface interval between the two dives on the boat

Fun Dives (for certified divers, in a group of max. 5 divers, accompanied by one Diversater or Dive Instructor, with check in at 8.30 am, 1.30 pm or Night Dives at 5.30 pm)

- Single Tank Boat Dive with entirely private dive equipment*	€ 40
- Single Tank Boat Dive with entirely rental dive equipment*	€ 45
- Two Tank Boat Dive with entirely private dive equipment*	€ 70
- Two Tank Boat Dive with entirely rental dive equipment*	€ 80
- Single Tank Night Boat Dive** with entirely private dive equipment*	€ 60
- Single Tank Night Boat Dive** with entirely rental dive equipment*	€ 65
*Tank and weight free of charge from our base	

Refresher Dives (for certified divers, recommended to everyone who hasn't dived for more than 6 months, starts with check in at 8.15 am or 1.15 pm)

- Refresher Dive A € 60

Theoretical introduction plus one Single Tank Boat Dive with entirely rental dive equipment*

€ 105 - Refresher Dive B

Theoretical introduction plus one Two Tank Boat Dive with entirely rental dive equipment*

^{**}Excluding Torch

^{*}Tank and weight free of charge from our base

Private Coaching (for certified divers, private dives accompanied by our Divemaster or Dive Instructor, only available with check in at 1.30 pm or on request with check in at 8.30 am (Only Available by booking through walk in or by phone call after 3 pm one day before).

- Single Tank Boat Dive with entirely private dive equipment*	€ 80
and private Dive Professional	
- Single Tank Boat Dive with entirely rental dive equipment*	€ 90
and private Dive Professional	
- Two Tank Boat Dive with entirely private dive equipment*	€ 130
and private Dive Professional	
- Two Tank Boat Dive with entirely rental dive equipment*	€ 150
and private Dive Professional	

Description:

- Single Tank Boat Dive = one boat ride with one dive at one dive spot

*Tank and weight free of charge from our base

- Two Tank Boat Dive = one boat ride with two dives at two different dive spots with a surface interval between the two dives on the boat

Dive Packages

Dive Package with Own equipment (DPO)

Boat Dives per person (for certified divers)

- DPO2 2 boat dives*	€ 70
- DPO3 3 boat dives*	€ 100
- DPO4 4 boat dives*	€ 135
- DPO5 5 boat dives*	€ 165
- DPO6 6 boat dives*	€ 195
- DPO7 7 boat dives*	€ 230
- DPO8 8 boat dives*	€ 260
- DPO9 9 boat dives*	€ 285
- DPO10 10 boat dives*	€ 315
- DPO15 15 boat dives*	€ 460
- DPO20 20 boat dives*	€ 595

^{*}Tank and weight free of charge from our base

Dive Package with Rental equipment (DPR)

Boat Dives per person (for certified divers)

- DPR2 2 boat dives*	€ 80
- DPR3 3 boat dives*	€ 115
- DPR4 4 boat dives*	€ 150
- DPR5 5 boat dives*	€ 190
- DPR6 6 boat dives*	€ 225
- DPR7 7 boat dives*	€ 260
- DPR8 8 boat dives*	€ 295
- DPR9 9 boat dives*	€ 330
- DPR10 , 10 boat dives*	€ 360
- DPR15 15 boat dives*	€ 525
- DPR20 20 boat dives*	€ 680
*Tank and weight free of charge from our base	
Equipment Rental (only for use at our diving centre)	
BCD	€ 5
Regulator	€ 5
Dive Computer	€ 10
Compass	€ 5
Underwater Torch (including batteries)	€ 5
Underwater GoPro 10 Camera	€ 20

PADI Diving Courses (all dives are accompanied by PADI Dive Instructor. All PADI Courses are available in English, German, Czech, Slovak, Hungarian, Sinhalese and Tamil)

Get Introduced

Try Scuba Diving & PADI Discover Scuba Diving

(from 10 years for beginners without diving certificate, includes PADI Certificate of Recognition, only available with check in **at 1.30 pm** or on request with check in **at 8.30 am** (**Only Available** by booking through walk in or by phone call **after 3 pm one day before**).

- Try Scuba Diving*, TSD

€ 65

theoretical introduction into scuba diving with one boat dive up to max. 6 m depth with entire rental equipment accompanied by one of our PADI Divemasters or PADI Dive Instructors

- PADI Discover Scuba Diving*, DSD

€ 90

theoretical introduction into scuba diving with one boat dive up to max. 12 m depth with entire rental equipment accompanied by one of our PADI Dive Instructors

Should you decide before your **PADI Discover Scuba Diving** you would like to take your **PADI Scuba Diver** or **PADI Open Water Diver Course** with us, we will **credit you the full DSD amount** towards your course fee!

 Any additional second DSD Dive on the same or next day* 	€ 50
---	------

- PADI Bubblemaker*, for children from 8-10 years € 95

includes PADI materials and 1 dive in swimming pool

- PADI Seal Team*, for children from 8-10 years € 125

includes PADI materials and 5 AquaMissions in swimming pool

* including dive equipment, tank and weight free of charge from our Dive Shop

Get Certified (for beginners without a diving certificate, starts with check in at 8.30 am)

- PADI Freediver Course*	€* 350
- PADI Scuba Diver Course*	€* 220
- PADI Upgrade from Scuba Diver to OWD*	€* 200
- PADI Open Water Diver Course*, OWD	€* 350
- PADI Open Water Diver Course* with eLearning	€* 220
- PADI Open Water Referral*, 4 Open Water Dives	€* 260
- PADI O/W Referral -Theory/Knowledge Development and	€* 170

Confined Water Skills*, Excludes 4 x Open Water Dives

All prices are without certification and teaching materials (except PADI eLearning), price for the PADI Certification fee is 70 € in total. (for Freediver PADI Certification fee is 35 €).

If you choose the **PADI Open Water Diver Course with eLearning** in advance, the costs for the PADI Manual and the PADI Certification fees are already included **in the purchase of the PADI eLearning** through the **PADI website, www.padi.com**.

IMPORTANT: When you purchase the PADI eLearning on PADI website, you have to register with our diving centre code DIVINGURU NILAVELI, Store No S-23912 or DIVINGURU UNAWATUNA, Store No S-36133.

^{*} including dive equipment, dive computer, tank, weight and log book free of charge from our diving centre.

Improve your Scuba (for certified divers, starts with check in at 8.30 am)

- PADI Single Tank Adventure Dive*, Deep, Wreck, Night	€* 80
- PADI Two Tank Adventure Dive*, Deep, Wreck, Night	€* 150
- PADI Adventure Diver*, 3 Adventure Dives	€* 210
- PADI Advanced Open Water Diver Course*, 5 Adventure Dives	€* 325
- PADI Advanced Open Water Diver Course* with eLearning	€* 195
- Emergency First Response, EFR Course*, without dives	€* 95
- PADI Rescue Diver Course*	€* 395
- PADI Rescue Diver Course* with eLearning	€* 265
- PADI Divemaster Course** (30 days)	€* 1150
- PADI Divemaster Course** with eLearning, (30 days)	€* 1050

^{*} including dive equipment, dive computer, tank, weight and log book free of charge from our diving centre.

All prices are without certification and teaching materials (except PADI eLearning), price for the PADI Certification fee is 70 € in total

** including dive equipment, tank and weight free of charge from our Dive Shop, excludes Divernaster Course materials (around 300 Euro) and PADI Membership (around 160 Euro), payable directly to PADI organization

If you choose the PADI Advanced Open Water Diver Course with eLearning or the PADI Rescue Diver Course with eLearning in advance, the costs for the PADI Manual and the PADI Certification fees are already included in the purchase of the PADI eLearning through the PADI website, www.padi.com.

IMPORTANT: When you purchase the PADI eLearning on PADI website, you have to register with our diving centre code DIVINGURU NILAVELI, Store No S-23912 or DIVINGURU UNAWATUNA, Store No S-36133.

Specialize (for certified divers, starts with check in at 8.30 am)

- PADI Deep Diver Specialty*, 4 boat dives	€* 295
- PADI Wreck Diver Specialty*, 4 boat dives	€* 295
- PADI Night Diver Specialty*, 3 boat dives	€* 295
- PADI Digital Underwater Photographer Specialty*, 2 boat dives	€* 195
- PADI Underwater Naturalist Specialty*, 2 boat dives	€* 175
- PADI Peak Performance Buoyancy Specialty*, 2 boat dives	€* 175
- PADI Enriched Air/Nitrox Diver Specialty*, 2 boat dives	€* 175
- PADI Enriched Air/Nitrox Diver Specialty*, without dives	€* 95
- PADI Aware Coral Reef Conservation Specialty*, without dives	€* 65
- PADI Dive Against Debris Specialty*, 2 boat dives	€* 95

^{*} including dive equipment, dive computer, tank, weight and log book free of charge from our diving centre.

All prices are without certification and teaching materials (except PADI eLearning), price for the PADI Certification fee is 70 € in total (for Dive Against Debris PADI Certification fee is 35 €).

Snorkeling Tours

Rates include boat transfer, life jacket and complete Snorkeling Equipment (Mask, Snorkel, Fins). Only available with check in at 1.30 pm or on request with check in at 8.30 am. Morning time only available by booking through walk in or by phone call after 3 pm one day before). Mentioned rates depend how many snorkelers is on the boat.

Tour A, B - leaves from Divinguru Nilaveli

Tour C, D - leaves from Divinguru Trincomalee (currently not operating)

Tour E, F - leaves from Divinguru Unawatuna

Snorkeling Tour A - rates exclude the Pigeon Island entrance ticket (40 Euros/p.)

Location: Pigeon Island National Marine Park, Nilaveli

Duration: up to 3 hours

Up to 2 people, € 35 per person = total € 70

Up to 3 people, € 33 per person = total € 99

Up to 4 people, € 31 per person = total € 124

Up to 5 people, € 29 per person = total € 145

Up to 6 people, € 27 per person = total € 162

Each additional one hour € 10 per snorkeler

Min. age of Children 5 years old!

Children below 12 years half price!

Snorkeling Tour B

Location: Coral Reef Nilaveli

Duration: up to 3 hours

Up to 2 people, € 40 per person = total € 80

Up to 3 people, € 38 per person = total € 114

Up to 4 people, € 36 per person = total € 144

Up to 5 people, € 34 per person = total € 170

Up to 6 people, € 32 per person = total € 192

Each additional one hour € 10 per snorkeler

Min. age of Children 5 years old!

Children below 12 years half price!

Snorkeling Tour C

Location: Swami Rock, Uppuveli, Trincomalee

Duration: up to 2 hours

Up to 2 people, € 30 per person = total € 60

Up to 3 people, € 28 per person = total € 84

Up to 4 people, € 26 per person = total € 104

Up to 5 people, € 24 per person = total € 120

Up to 6 people, € 22 per person = total € 132

Any additional hour € 5 per snorkeler

Min. age of Children 5 years old!

Children below 12 years half price!

Snorkeling Tour D

Location: Navy Island, Trincomalee

Duration: up to 2 hours

Up to 2 people, € **35** per person = total € **70**

Up to 3 people, € 33 per person = total € 99

Up to 4 people, € 31 per person = total € 124

Up to 5 people, € 29 per person = total € 145

Up to 6 people, € 27 per person = total € 162

Any additional hour € 5 per snorkeler

Min. age of Children 5 years old!

Children below 12 years half price!

Snorkeling Tour E

Location: In front of the Rocks of the Unawatuna Bay

Duration: up to 2 hours

Up to 2 people, € 30 per person = total € 60

Up to 3 people, € 27 per person = total € 81

Up to 4 people, € 24 per person = total € 96

Up to 5 people, € 21 per person = total € 105

Up to 6 people, € 18 per person = total € 108

Any additional hour € 5 per snorkeler

Min. age of Children 5 years old!

Children below 12 years half price!

Snorkeling Tour F

Location: Jungle Bay, Galle Harbor side

Duration: up to 3 hours

Up to 2 people, € **45** per person = total € **90**

Up to 3 people, € 42 per person = total € 126

Up to 4 people, € 39 per person = total € 156

Up to 5 people, € 36 per person = total € 180

Up to 6 people, € 33 per person = total € 198

Any additional hour € 5 per snorkeler

Min. age of Children 5 years old!

Children below 12 years half price!

Whale & Dolphin Watching (around Nilaveli & Trincomalee)

Check In 5.30 am at our Divinguru Nilaveli at the Divinguru Beach Resort. Boat leaves at around 5.45 am. You will be back at our Diving Centre around 9 am for Check Out. Mentioned rates depend how many customers is on the boat.

Up to 2 people, € 50 per person = total € 100

Up to 3 people, € 47 per person = total € 141

Up to 4 people, € 44 per person = total € 176

Up to 5 people, € 41 per person = total € 205

Up to 6 people, € 38 per person = total € 228

Each additional one hour € 10 per person

Min. age of Children 5 years old!

Children below 12 years half price!

Payment Conditions:

Cash payment for all Diving and water sport activities can be made in Euro, USD and Sri Lanka Rupee or by Credit Card (MasterCard or Visa). Prices in currencies other than Euro will be calculated from our price list using the current exchange rates.

Payment made by Credit Card will be subject to around 3 % Bank Charge.

All prices can be changed without prior notice.

Ask for our free pick-up and drop-off service within the distance from:

East Coast: Trincomalee to Kuchchaveli (Trincomalee, Uppuveli, Nilaveli,

Kuchchaveli)

South Coast: Mirissa to Hikkaduwa (Mirissa, Weligama, Midigama, Ahangama, Habaraduwa, Talpe, Mihiripenna, Dalawella, Unawatuna, Galle, Gintota, Boossa,

Hikkaduwa)

The **DIVINGURU UNAWATUNA**, the **DIVINGURU NILAVELI** and the **DIVINGURU TRINCOMALEE** are running under the Sri Lanka registered company, **CEYLON WATER SPORTS (PVT) LTD**, PV 72779, 294 Matara Road, Mihiripenna/Talpe, Galle 80600, Sri Lanka.

Approved by the: BOARD OF INVESTMENT OF SRI LANKA

Fully Insured by: V - INSURANCE GROUP,

Corporate Authorized Representative of Willis Australia Limited

We are PADI authorized as:

DIVINGURU UNAWATUNA- PADI 5 Star IDC Dive Resort S - 36133

DIVINGURU NILAVELI- PADI 5 Star IDC Dive Resort S - 23912

DIVINGURU TRINCOMALEE- PADI Resort S - 26837

In 2016, 2017 and also 2018 in row we received the PADI Green Star Award and we are also 100% Project Aware. We also donate to PADI Aware Foundation to protect the marine environment and conserve our oceans.

In 2016, 2017 and also 2018 in row we received from PADI Asia Pacific also the Award for "Outstanding Contribution to Diving Industry".

We are proud to be currently the **Number 1** on **Diver Education** with the most PADI Certifications in Sri Lanka.

German Ownership, German and International Management, International PADI Dive Instructors, Local and International Diversaters and Dive Crew.

We speak English, German, Czech, Slovak, Hungarian, Sinhalese and Tamil.

Meet the Professionals, Dive with US!



10.04.2025